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2.3 u A P 5,600 0 5,600
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(A EA)Z21 2,0009 X107 x53]= 100,000
3.7 NM-EA% Ful wEr] 27,300 0 27,300
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2. 5G] 9,100 0 9,100| (8 H#)aLA, m51] 10,0009 <9078 = 900,000
E*é%xd)%ﬂﬂ%ﬂl 5,000 <100 = 23] 1,000,000
(FHA)F7] AEH 20,0009 X409 = 800,000
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35,030| 29,530 5,500
2F¥2FHAY(EH 1,600 0 1,600
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4 whegel  2017-03-31




20178PAE A& o AHH A A

v %713 (w¢] : d9)
A
_]-(g qﬁ:égl q]7]}:30_11] B%];z; =72 (D)
A AR 7S A E] &
1. &85 4,920 4,720 200
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171A A 110 0 400 -400 | & A =AA ZF = -400,000€ -400,000
3. E A=A AN (5 12,803 0 12,803
1.717HA1 8 9191 22 1] 11,726 o 11,726 ifﬁjﬁﬁjifw A=) 1,887,600 11,326,000
(BEA)LHYPEAH] 400,0009 < 1= 400,000
2:71 A A AR R 1,077 0 1,077 (BHA)EFFAEA} 4EF 179,400€ 1,077,000
= <6709 X 1=
4. 41463 23A- Add Ed] 112 0 112
1.5 gH| 112 0 112/ (4 HA) 2 A 7,00090 X 89 X 23]= 112,000
AEEE AY 105,488  64,827| 40,661
A=Y 23,322 7,098 16,224
1. A EA = 8,176 1,852 6,324
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3.5 B A B AR 6,720 0 6,720
lLeass 6,720 0| 6,720 MEEHAAEAALD 560,008 <1274 6,720,000
2.8 alE 2 o b 10,340 440 9,900
2.4 ke AR 2=ALg) (A 8,400 0 8,400
1. 49| 8,400 0 8,400|oFA &2l n] o] & 840,000 X 107] L= 8,400,000
3.7 &G (EFA) 1,500 0 1,500
1. 058990 1,500 0 1,500| o1 7| B 28 al-g-dv]  150,0009 X 103]= 1,500,000
ATea &9 4,000 0 4,000
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2. B AALG 1] 290 0 290|995 145,0009 X 23]= 290,000
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1. 5 EEEFTY 16,279 0 16,279
1. 05| 3,150 0 3,150 (A HA)AA AW E 21,0009 X 1507)= 3,150,000
2.0 F 7504 13,129 0 13,129 (A EA)A=F B3t 484,0009 X 117)= 5,324,000
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